


= [lpuBeT , PebsTa
NOMOrnTe MHe
noXxanymncra pewmnTb
npumepsbl !
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B = / ,NpaBUIbHO
Monoaubl |







= 1, BEpHO , a Tenep
NOMOIrMTE MHE
pewnTb 3agady .y
MEHS ecTb 2
MOPKOBKW , €CInn 4
OQHY CbeM , TO
CKOJIbKO MOPKOBOK
MEHS1 ocTaHeTcH 7




= KOHeYHO BEPHO OOHa
MOPKOBKa , BCETO
OflHa MOPKOBKa ,a
CKOINbKO MHe Toraa
Haao OyaeT oTbIiCKaTh
MOPKOBOK , YTODObI Yy
MEHS cTano 5
MOPKOBOK 7




= BepHo , 4 MmopkoBKkU . Hy
. S NOLWEnN nx nckatb , a
Bbl UrpaunTe ,
BECENNTECH N KOHEYHO
K€ 3aHUManNTeCh
maTtemaTtmkon! A yBepeH
, YTO Y TAKUX KIaCCHbIX
pPebSAT KaK Bbl BCE
nony4untca ! [Nokal




